
(A)

B1

(B)
DETAIL B1

ESCALA 1 : 5

SOCKET ALLEN BUTTON
 HEAD 5/16 x 2-1/2"

LOCK WASHER 5/16"

FLAT WASHER 5/16 X 1"

(B1)

C1

(C)

STEP 3
WHEN YOUR BASE IS TIGHTENED, TURN THE 
TOP ON A FLAT SURFACE, ALIGN THE BASE AS 
SHOWN IN FIGURE C AND C1. THEN TIGHTEN 
THE SOCKET ALLEN BUTTON

STEP 4

DETAIL C1
ESCALA 1 : 5

SOCKET ALLEN BUTTON
 HEAD 5/16 x 1-1/2"

LOCK WASHER 5/16"

FLAT WASHER 5/16 X 1" (C1)

STEP 1
WITH THE HELP OF SOMEONE ELSE, PLACE THE 
SIDE LEG, ALIGNING THE UPPER CROSSBAR 
SCREWS AND TIGHTEN AS SHOWN IN DETAIL A, 
B AND B1. THEN REPEAT THE SAME ACTION 
WITH THE LOWER CROSSBAR.

STEP 2
ONCE THE SCREWS ARE TIGHTENED,
PLACE THE OTHER LEG AND REPEAT
THE TIGHTENING PROCESS.

ONCE THE SCREWS ARE TIGHTENED, PLACE
THE OTHER LEG AND REPEAT THE PROCESS.

READY TO PLACE IN THE DESIRED LOCATION.

DESCRIPTION #
SOCKET ALLEN BUTTON HEAD 5/16 x 2-1/2" 8

SOCKET ALLEN BUTTON HEAD 5/16 x 1-1/2" 4

LOCK WASHER 5/16" 12

FLAT WASHER 5/16 X 1" 12

AYEN KEY 3/16" 1

I-TBL-E029

ASSEMBLY
INSTRUCTIONS


	Hoja1
	Vista de dibujo1
	Vista de dibujo2
	Vista de dibujo3
	Vista de dibujo4
	Vista de detalle B1 (1 : 5)
	Vista de dibujo8
	Vista de detalle C1 (1 : 5)


